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1





Production of greenhouse gases, particularly carbon monoxide and carbon dioxide.


Production of oxides of sulfur and nitrogen which cause air pollution and acid rain. Use of a non-renewable resource: the environmental damage caused in extracting,


refining and transporting the fuel with the use of more fossil fuels to provide the energy, etc.





2





Any one of a number of valid points: there must be evidence. No statement should be


made that is not backed up by reference to a study, graph or similar.





3





For each case, data must be clearly displayed with appropriate axes, clear and correct


labelling, keys, etc., depending on the method chosen.





4





a





76.9–79.3%





b





21.8–25.3%





c





Variety of possible answers depending on the way of arguing. Most likely is that


the effect of deforestation may not be as great as first thought as plants are only responsible for between a fifth and a quarter of the absorption of greenhouse gases. Also, this is a relatively small part of the total carbon reservoir. All arguments to be based on data.





5





Evidence of careful research and information backed by more than one source, not


related to each other. Also display an understanding of the technology and its potential uses.
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2    a





C–C single bond: a sigma bond which has a symmetrical electron cloud so there is


free rotation around the bond. The bond is relatively unreactive.





C=C double bond: made up of a sigma bond and a pi bond. The pi bond has electron density concentrated in two regions opposite each other on the C–C axis. There is no rotation about the bond so there can be isomerism which leads to variations in the physical properties of the alkenes.
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